OFFICE OF THE COUNCILLORS OF MIDNAPORE MUNICIPALITY
MIDNAPORE

NOTICE

Sealed Quotation of rates are invited from the bonafide Suppliers’/Agencies for the following
supplying under Midnapore Municipality by 1-00 PM.on _|5:03:20 I& / which will be opened
on the same day at 1-30 P.M. in presence of the Authorised representatives. The undersigned reserves
the right of acceptances or rejection wholly or partly evens the lowest without assigning the reason.

SL No. Name of Materials SL No. Name of Materials
1 %” G.1. Tap - Mouth 33- %” Tap Drill
2. %" G.1. Tap — Mouth 34. | %" Tap Drill
2- 3%4” P.V.C. Tap — Mouth 35. 12” Sly Wrench
A 15” P.V.C Tap — Mouth 36. 4” (100 mm ) Chain ton
5, 3%” G.1. Elbow 37. | 3” (8o nim ) Chain ton
6. %" x ¥5” G.1. Elbow 38. Tancer Blade
7. 147 G.1. Elbow 39. Tancer Frame
8. 1%” G.1. Elbow 40. Gasket
9. 3” G.1. Socket 41 Rubber
10. |%”x¥%”G.LR. Socket 42. | 5/8” Washer
11 1 %7 G.1. Socket 43 15” Washer
12. 1 %” G.1 Socket 44- Spade (Kodali)
13. | 3%” Poly Pipe (Black) 45- | Pickaxe
14. |1%G.L Pipe (Zindal) 46. | Hammer — 5 Kg.
15. | %7 G.I Nipple 47. 15", 5/8” Dull Rench
16. | %57 G.L Nipple 48. | Square Drill
17. | 34" G.I Pipe 49. | Mark - II Planger (Roy Co.)
18. | 3”x6”G.I Nipple 50. | Mark - II Bearing.
19. | %”G.I Union(G.L) 51 Mark - II Axie
20. | %”G.I Tee 52. Mark - II Chain
21. | 3”x %" Saddle (Heavy) 53. Mark - II Chainnut
22. | 4”x ¥%”Saddle (Heavy) 54. Mark - II Handle
23. | 5”x %" Saddle (Heavy) 55. | Mark - II Body
24. | 6”x %" Saddle (Heavy) 56. Mark - II Water Chamber
25. | 3”D.T. Joint (Comp.) 57. Mark - II Bucket (Burani)
26. | 4”D.T. Joint (Comp.) 58. | Mark - Il Head
27. | 5”D.T. Joint (Comp.) 59. Mark - II Rubber (Washer)
28. | 6”D.T. Joint (Comp.) 60. | Mark - 1I Cylinder
29. | 8”D.T. Joint (Comp.) 61. Mark - I Plagnger (Valve)
30. | 12”D.T. Joint (Comp.) 62. | Mark - II Plagnger (Washer)
31 3" Plug 63. Mark - II Cylinder Rod
32. | 1”Plug 64. | Mark - Il Connecting Rod




 65. | Mark - II /5" Rod Socket  88. | DiexFull Set) )
66. | 6 No. Sheet Valve (Burani Flag Mark) 89. | 6” Coupler
67. | 6 No. Planger 9o. | 8" Coupler
68. | 6 No. Planger Rod 9L 12” Coupler
69. | 6 No. Bucket (Burani) 92. 3” P.V.C Elbow, Thread (Supreme)
70. | 6 No. Tubewell Body 93 3" x ¥%” P.V.C Elbow, Thread (Supreme)
71. | 6 No. Weight Valve 94 34” P.V.C Socket, Thread (Supreme)
72. | 6 No. Head 95. | %” Nipple P.V.C, Thread (Supreme)
73. | 6 No. Handle (Heavy) 96. | %" Nipple P.V.C, Thread (Supreme)
74. | 3/8”x2 ¥%” Nutbolt 97. | 37 P.V.C Socket
75. | 3/8”x2” Nutbolt 98. | 47 P.V.C Socket
76. | %" x 3” Nutbolt 99. | 5”P.V.C Socket
iy 15”7 x 1 %5” Nutbolt 100. | 6”P.V.C Socket
78. | 5" x 4” Nutbolt 10. | 3”P.V.C Pipe
79. | 3 %" x %" Nutbolt 102. | 4”P.V.C Pipe
8o. |14 Pipe Rench 103. | 5”P.V.C Pipe
81. | 18" Pipe Rench 104. | 6”P.V.CPipe
82. | 5/8”Ring Rench 105 |3"P.V.CTee
83. | 5/8” Nutbolt 106 | 4"P.V.CTee
84. | 5/8”x2” Nutbolt (Full) 107 |5"P.V.CTee
85. |5/8”x2%” Nutbolt (Full) 108 | 6"P.V.CTee
86. | 5/8”x 3" Nutbolt (Full) 109 | Solvent Cement
87. | 5/8”x 3 %" Nutbolt (Full) no | Bleaching Powder 25 Kg Bag (33%
Chlorine)

59/

Chdirman

Midnapore Municipality

Memo No-_ > o /.3 J(WS)/ S Dated: _7— / 3 J L8
Copy To: - M.C.LC. (WW)/ E.O. / Acctt. / W.WLL / Office Notice Board/ Midnapore Municipality- for
information. '

3

Chairman

Midnapore Municipality
oY
e %1 05' \&




